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SX01 0-1 40 15 20 25 20
SX05 0-5 3.0 50 75 100 20 5: SXxxxGD2 SXxxxDD4
Sx15 | 0-15 15 75 110 150 45 Omv
SX30 | 0-30 0.75 75 110 150 % 20mvV
SX100 | 0-100 03 100 150 200 150 35mvV
SX150 | 0-150 0.15 75 110 150 200
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10%  90%
0 1psd psg SX01D SX01DP1 SX01DN SX01GSO SX01GD2, SX01DD4 8: 1
0 5psd psig SX05D SX05DP1L SX05DN SX05GSO SX05GD2, 5X05DD4
0 15psa SX15A SX15AP1 SX15AN SX15AHO SX15AD2. SX15AD4 9: 100%
0 30psa SX30A SX30AP1L SX30AN SX30AHO SX30AD2. SX30AD4
0 100 psia SX100A - SX100AN SX100AHO SX100AD2 SX100AD4
0 150 psia SX150A - SX150AN SX150AHO -

0 15psd psg SX15D | SX15DP1 | SX15DN SX15GSO SX15GD2,SX15DD4
0 30psd psg SX30D | SX30DPL | SX30DN SX30GSO SX30GD2,SX30DD4
0 100psd psg | SX100D - SX100DN | SX100GSO | SX100GD2,SX100DD4
0 150psd psg | SX150D - - SX150GSO -
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